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Input = digit entered

Output = unlocked?
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Input = digit entered

Output = unlocked?



Sa_old Sb_old In Sa_new Sb_new Out

0 0 0 0 1 0

0 0 1 0 0 0

0 1 0 0 0 0

0 1 1 1 0 0

1 0 0 1 1 0

1 0 1 0 0 0

1 1 0 0 0 0

1 1 1 0 0 1

Sa = MSB of state

Sb = LSB of state

In = bit entered

Out = unlocked?



\ In

Sa Sb    . 
0 1

00 0 0

01 0 1

11 0 0

10 1 0

(¬Sa ∧ Sb ∧ In) ∨ (Sa ∧ ¬Sb ∧ ¬In) (¬Sb ∧ ¬In) (Sa ∧ Sb ∧ In)

\ In

Sa Sb    . 
0 1

00 1 0

01 0 0

11 0 0

10 1 0

\ In

Sa Sb    . 
0 1

00 0 0

01 0 0

11 0 1

10 0 0

new LSB

Sa = old MSB, Sb = old LSB

Outnew MSB
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